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SECTION—A / Tans—37

31^ : 1. 15 3Tte5^3q-3IR|l'3Ir^W^^37fea^^ 15^20^'
^ ̂  tl 37^^ tl 03 37^^11 - (3x15=45)

Que. : 1. This question contains 15 very short answer type sub-questions.
Answer each question in maximum 15 to 20 words. All questions
are compulsory. Each question carries 03 (three) marks.

.  3R=T : (1.1) ^7R^ Tif%^% lOf T^fto 3Tf^Tft^, 1961 W t?

What has been added to the 10th Amendment Act, 1961 of

the Indian Constitution?
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3?M3FTWt'? '

.  . , . ..-.'In Bommai.casey wjaich. Justie.e, of the Supreme Court

called the 'Preamble' as the integral part of the
Constitution?

:  (1.3) wfk ̂rf^w %

:?

.WMch-Articles of the Indian Constitution indicate the

declaration of distributipn of Legislative power between
. Union, and Sfate?

51^: (1.4) 3Trgf^<N411ct%3imK^?TT^f

"Political Parties are the PiUars of Modem Politics." Which

scholar has mentioned this statement?

31^: (1.5) ̂  -qr ^ ^ ̂ 37flTTO

Who has the authority to decide the procedure for

impeachment of the Chief Election Commissioner?

31^: (1.6) 31^ ^ 3TPik ̂  3m afcl^lPldl ^

When did Madhya Pradesh Public Service Commission

conduct the first, competitive examination?

3IH : (1.7) ^ ̂ 31%rR ̂  ^ t?

Which system is meant by the term 'Panchayati Raj'?

31^ : (1.8) ?

At what rate do Cooperative Banks ̂ve loan to all women

self-help groups?

31^ : (1.9) w?

When was telecommunication service started in Madhya
Pradesh?
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wr: (1.10) <^Ridi ?-- . v.- ^v-v : . • -v
Who is the author of the book Hitqpadesha?.

W : (l.llj^rfecT

^ t? ' " ■' ' ■' " '
Which new ideology was developed by Pandit Deendayal
Upadhyaya? What is i.ts.-name?." ; • ■•*•*

3IH : (1.12)

^ 3TRn WT

"Unless man's econo'mic needs "kre fulfilied, it is futile
to expect cultural creativity from him." Whbse'statement
is this? Explain. .■ . .

t? .
Who gets the credit for developing and expanding the
concept of Development Administration?

:  (1.14) yrMwIvdH (delegation) ^ W cTtM t?
What is meant by delegation?

31^: (1.15) ■
What are the detenhining factors of control?

31^ : 2. lO dHrid^ :3q-3i^f I 31VH % ̂ "Ig 311^ ^ 50
5  W 05 (^) 31^ ̂ tl (5x10=50)

Que. : 2. This question contains 10 short answer type sub-questions. '
Answer each question ideally in 50 words/5 to 6 lines. All
questions are compulsory. Each question carries 05 (nye)
marks.

3R4; (2.1)

What do you mean by the basic structure of the
Constitution? List at least five elements of the basic

structure.
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"STH ; (2.2) .^^l(^4>H.^ M-clHI ̂ tf^I, ■

Discuss the Advisoiy Jurisdiction of the Supreme Court.

:  (2.3) ^d{\

What is the procedure for fomation of a Joint Public

Service Commission for two or more States? Explain.

■m : (2.'4) mcfk TRfScT ^ 3F5T (OBC) % ̂  ^

Review the factors for the rise of Other Backward Classes

.  (OBC) in Indian Politic^.-,

:  (2.5) yQb4i ̂  ^hIM ̂

Discuss the 'challenges before women's representation
in the Indian democratic process.

TW : (2.6)

Elucidate the role of Non-Govemmental Organizations
(NGOs) in rural development.

31^: (2.7) tT'^WcT ^N-fllcl sftc 3TPnHt

Discuss the diverse aspects of politics and statecraft
described in Kautilya's Arthashastra.

3R4 : (2.8) 31^ sn?
What did Ambedkar mean by social democracy? Discuss.

3R4 : (2.9) "f^ % ̂  ^ yiiliy'l % f?
What are the basic concerns of public administration
as a field of study?

3R4 : (2.10)3rrf^TTO3^3xE^rf^^ ^3TcRf#nf?
What are the interrelationships between authority and
responsibility? Explain.
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TO : 3. ̂ TO^ 05 ̂ m % ^ 200 ̂ '

'ti ̂ TO 3lftgrffr^R^'TO 11 (7^) 31^ ̂ tl (11x5=55)

Que. ; 3. TMs questioncontaihs 05 lorigah'swert^^e sub-questions. Answer
each question ideally in 200 words. All questions-are compulsory.
Each question carries 11 (eleven),marks.

TO : (3.1) -

Explain the content-.of-the preamble of the Indian

Constitution.

■ 3I?raT/OR, .

.  TITH .TO f ?.

Explaining the concept and purpose of Public Court,

state who are eligible to get free legal aid.

TO : (3.2)

Explain the function of the Election Commission of India,

keeping in mind its structure and organisation.

3TSI^/OR

■ TOfk <m41IcI ^ ̂ TOH t ̂  3lterFT?

Is the role of caste in Indian politics a blessing or a

curse? Explain.

TO : (3.3) 74^ % 3RPfe ^ 12^ ^ TO
-ftroi ̂  TOTf ̂  TOTT^I

Explain the main functions of urban body under the

74th Constitutional Amendment mentioned in the 12th

Schedule of the Constitution.

3T^/OR

TO t? ^ ̂  4^

WT^l

■ What is Artificial Intelligence? Explain the losses due

to its misuse.
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"TO: (3.4) c^l^l

.■#f^I ... ■ -.
• -» * ' i • . *.

Explain the Satyagraha philosophy of Mahatma Gandhi
and explain its various forms.

-  .\\\ ' I \ J *.' ■

3vm/OR

TJ4 (%R-^<Tfk) ^ 3miw 4^ ww?: I

Explain the concept of Four Pillar State of Ram Manohar
Lbhia;;' ■ .

:  (3.5) 4^ iRTRH %
■  . " ' . ' I.'v ' I •.V.W' i

Explmn the-goals'of the-New Public Administration.

.. . ,3?«raT/OR ,

qTN) "SRTRH ^

Explain the role of Public Administration in the
developing countries.

SECTION—B / ^

:  1. 15 15^20^

^^tlR^3T^37ftgrftlTIr^3R4 03 (#T) (3x15=45)

Que. : 1. This question contains 15 veiy short answer type sub-questions.
Answer each question in maximum 15 to 20 words. All questions
are compulsory. Each question carries 03 (three) marks.

3f^: (l.l) (MSP) W t?

What is the objective of Minimum Support Price (MSP)?

WT : (1.2)

What is progressive taxation?
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Tm : (1.3) \-,-

What is the primary function of International Monetary

Fund? .. .. • . , ^
'J.r

3IH : (1.4) W t?

What is the primary objective of Madhya Pradesh State

Forest Development Cdrporatibii? " • • • -

I

'm : (1.5) 2011 ̂  % 313^, "fl ̂  ^jH^H<2i|l.(0-14 ^
ylcl^ld wt?

What is the percentage of child population (0-14 years)

in Madhya Pradesh, as-pef.'Census-201'l? ^ •

^[^: (1.6) ITFfH ̂  ^ t?

What is the aim of Mukhyamahtri Gramih Path Vikreta

Yojana?

"51^ : (1.7) UGC wt?

WhatisUGC?

"3^: (1.8) % 3i3?TK, W t?

What is old age according to Oxford Dictionary?

TI^: (1.9)

What is meant by deprived class?

:  (1.10)^^^^^5fte%3igm,

What is culture according to Broom and Selznick?

31^: (1.11)B^43K^3[5?^3|^1M^I

Write the key objective of Sanskar.

lo-A&B 7. [ p.T.O.



Which aspects of rural life does community development

change?

:  (1.13)wrTO20ii%3i3W,-iM^i^Tr3i3^^vFr5nfM^iH*FrT

According to Census 2011, what is the population of

Scheduled Tribes in Madhya Pradesh?

"a^ : (i.i4)a^f^^Tg^ w|? ^

What is Pataiia Community? Where do they reside in

Madhya Pradesh?

t?

Why does immunodeficiency occur?

^ : 2. 10 d^rld-M f I %:3tR% 3TT^^^ 50^/

5  05 (^) 3?^^ tl (5x10=50)

Que. ; 2. This question contains 10 short answer type sub-questions.

Answer each question ideally in 50 words/5 to 6 lines. All
questions are compulsory. Each question carries 05 (five)

marks.

WR : (2.1) wf?

What are the main components of Green Revolution in

India?

"a^ ; (2.2)

What is included in the Non-Tax Revenue Receipts of

Government of India?

lO-A&B 8
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3IH : (2.3) W 3TSf t? , ■

What is the meaning of 'Current Account Full

Convertibility'? . ' .

"3^ : (2.4) '

What is the scenario of Co-operative Banks in Madhaya

Pradesh?

\  (2.5) WT WT'^-¥T t? .

Which is the first stage of elementary education?

'■aK; (2.6) ^ wr [dfem

Write the three stages of disability according to World
Health Organization.

31^ : (2.7) FWT^nFN

It is simple to measure the civilization but not culture.
Explain.

:  (2.8) wt?

What is NABARD? How is it useful for villagers?

:  (2.9) w|?

What is vasectomy? Explain its surgical procedure.

51^: (2.10)^^5fRTfir'9

Explain the GOL GADHEDO marriage custom in Bhil
Tribe.

lO-A&B P.T.O.



TO : 3. ̂ TOS05^.^JrlCk^-TO||.'$Ir^_'TO%3TK-|g3TI^'^i(!iTT200^

tl ̂ TO 3lPt^f| Tlr^TO 11 (T^R?) (11x5=55)

Que. : 3. This question contains 05 long answer type sub-questions. Answer
each question ideally in 200 words. AU questions are compulsory.
Each question carries 11 (eleven) marks.

TO : (3.1) RTO ̂  ^ ̂  ̂ ^

Explain the possible impacts of Indian agriculture
through World -Trade Organisation.

■  . 3T^/OR

Explain the 'Make in India' initiative of Government of

India.

'  • /

TO : (3.2) 2011^ WTOT % aqgRR, TO ^ ^
anffe J|[ri[^f^ % 3imK qr l^^-cini

Explain the working population in Madhya Pradesh on
the basis of their economic activities as per the Census
2011.

3??mT/OR

Explain the infrastructural facilities for industries in

Madhya Pradesh.

TO : (3.3) 'TOT ̂  ^ ^ TOTT^I TOTO ̂  ̂If^l

Explain 'the challenges of vocational education' in India.

Give solutions also.

3TSraT/OR

TOT ̂  ^ Wm,\

Write the main problems of the elderly people in India.
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-m : (3:4)' q4i4cil trsf ^
:a^r^-. ; ^ ■ ' ■ ■ -■ ■ ' ' • "■ ' ' •'•' '-

//-

"j o

Explain the status of Women Reservation in -Panchayati
Raj system and its'challenges'.-

sma/OR

What is exogamy? Explain Gotra exogamy.

"5^ : (3.5) ^^^^1 ■

Discuss the important ni^^sufes of population control.

3mT/OR ' " ' ' •

ttfM ̂  TT^' ^ % 1^^ f 1
Avoidance and joking are opposite to each other in
kinship customs. Explain.

★ ★ ★
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